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GUJARAT TECHNOLOGICAL UNIVERSITY
Diploma Engineering - SEMESTER-IV « EXAMINATION - SUMMER ¢ 2015

Subject Code: 3341101 Date: 01-05-2015
Subject Name: Microprocessor and Assembly Language Programming
Time: 10:30 am - 01:00 pm Total Marks: 70

Instructions:

1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version is considered to be Authentic.
Q.1 Answer any seven out of ten. 14
1.  Size of address bus is bits and size of data bus is ___bits in 8085.
2. If content of memory location 4000h is 54h then content of A will be ___if
two instructions LDA 4000h and INC A are executed in sequence.
3. Ifcontent of A is FFh then content of memory location 5000h will be if
two instructions INC A and STA 5000h are executed in sequence.
4. If content of A is 54h then what will be content of A if XRA A,A is executed.
5. List functions of SID and SOD pins of 8085.
6. List functions of HOLD and HLDA pins of 8085.
7. Write down full form of RIM and SIM instructions.
8.  List functions of RESET IN and RESET OUT pins of 8085.
9. Ifcontent of A is 33h then content of A will be if RAL is executed.
10. If content of A is 35h and content of B is OFh then content of A and B after
execution of ANA A,B will be and respectively.
Q.2 (a) Draw pindiagram of 8085. 03
OR
(@) Write instructions for these. (i) (C) < (B) (ii) (A)<-(4000h) (iii) (A) <«(A) —35h 03
(b) List registers available in 8085. 03
OR
(b) List different flags available in 8085 and explain function of each in brief. 03
(c) Explain control word format of IC 8255. 04
OR
(c) Explain CALL instruction of 8085. 04
(d) Classify instruction set of 8085 giving one example from each category. 04
OR
(d) Explain RET instruction of 8085. 04
Q.3 (a) Draw T state timing diagram of MOV A, B instruction. 03
OR
(a) Define T state, machine cycle and instruction cycle. 03
(b) Write a program to add numbers 08h and 02h and store result in A. 03
OR
(b)  Write a program to subtract numbers 08h and 02h and store result in A. 03
(c) Explain address/data bus demultiplexing with diagram. 04
OR
(c) Explain memory mapped 1/0O and 1/O mapped 1/0. 04
(d) Draw block diagram of IC 8255. 04
OR

(d) Write a program to transfer bytes of source block to destination block. Size of 04
block is 5 bytes, address of source block:6000h and destination block:7000h

Q.4 (a) List pinsrelated to interrupt facility in 8085. 03
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OR
Explain functions of S1, SO, 10/M pins of 8085.
Write a program to add two 16 bit numbers using DAD instruction.
OR
Draw a circuit to interface 8 LEDs with IC 74L.5245.
Draw architecture of 8085 and explain function of any two blocks in brief.

Explain different addressing modes of 8085.

Explain LDAX and STAX instructions with examples.
Explain these instructions (i) ADI (ii) ANI (iii) CMA
Explain LDA and STA instructions with examples.
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gaHiell sleuRl Ulctoll wallol UL
8085HI AU ololl A3 ofled wal 32l el s ollen .
A3l Aot 4000hetl oo 54h Sl dl B8t LDA 4000h el INC
A Asollsge sal ubloll A oll ooz 3L
A ol So2o FFh 8lal cdl 83252t INC A el STA5000h
AsAlsyge sal ugdlotlt AMI AB2et 5000holl Sooz QL.
A oll so2o2 54h 82l dl BoRsAt XRA AA Asdilsye sal udlell A ot
Socod U
80855l SID Aol SOD Uletetl Ulstott st AW
80855{l HOLD e\ HLDA lotell st e,
RIM el SIM 8ot s2etdotl §et Sl v,
RESET IN ol RESET OUT Uletotl sl cvll,
A oll S22 33h 8l cll BergsAciAU RAL Asoflsye sl uedloll A ol S22
O
A oll soto2 35h 8lal Wl Boll oo OFh &2l cl Be2252st ANAAB
AsAlsye sl USloll A oll So2o2  Wal B oll Sooz U

808501l Ulat stA2UH ERL.
uall
Lol HI2o(l Bors2lel AULL: (i) (C) < (B) (ii) (A)<(4000h) (iii) (A) <« (A) — 35h
808501l W2 Nof Ale wlailcll,
wal
808501l $A9le] lre Glatlcl el €5 $ANg s11 S5UI UM
IC 8255 oll $2lct d§ SlRA2 UHes Al
uall
80855{l CALL 8o252lot -3l
808501l Bor252let A2ej co(ls0U 531 €25 cldle] As GelsAWL UL AL
uall
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80850{l RET 8o2252lol UM ML

MOV A, B 8253t oll T 222 2l8H{lol st2alH €RL.
wcll
T 2, Hallol A5 WA BorR 520l UBSAHo{l cRliuall 1.
08h ol 02hal As 53| A W2 A Hi @A sclloll YoUH AVl
uacll
08hHiell 02h olte 531 e A UL LR sclloll WUH Al
st MHo{l Heedll AJU ci/del stg] slucdldellol Auestal.
waell
AL A 1/0 Aal 1/0 A 1/0 UMl
8255 eS| oll 6clls SIAAH ENRA.
wacll
AeA SIS clge A 3Nt GASHL 2lol$R sRclloll YoUH AUull. AR
6Clso] AJA: 6000h Aol 3|t 6EAlso] WFA: 7000h B.

80850(l Yoz Hi2ell Ulot of dlre olollcl.
Ul
80854{l S1, S0, I0/M Ulollotl $52let AHAAL

DAD 8o252oto{l HEEUl A 16 0{le dAttRell ARcUON $Rclloll YLUH VL.

wUcll
8 LEDs ol IC 745245 U 8o2%A scll SIAUH R
808501l AULS2sUR 6AlsSIAAH €13l SlBURL A oAls UL

808501l o€l el WJA[oL Hls UMl

LDAX ol STAX 8e2252lol GELEWQL AUl ULl
UL Bor2 52l AHLAL (i) ADI (i) ANI (i) CMA
LDA 3ol STA 8o252lel BEleQL AUl AHstal.
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